2. Area Enclosed between two Curves

¥Saral

Area Under the 2n
(2) In case horizontal strip is taken
Then we have, Curve
y2 3. Standard Areas To Be Remembered (3) Area bounded by :
A= j —g(y)]d .
[f(y) — 8(y)]dy (1) Area F)ounded by : Parabolas y? = dax; x2 = dby
y = sinx Where, x € [0, 1]
; (@a>0;b>0) A= 103P
-~ Area = f sinxdx = 2 3
0 2 4
= 4b
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(3) If the curves y = f (x) and y = g(x) 0 Tt 21 X \
T
intersect at x = ¢, then required area is : ) y? = 4ax
b
c ; . (2) Area bounded by : (4) Area enclosed by
A= f (8(x) — f(x))dx + f (f(x) — g(x))dx y = COSX Curve : y? = 4ax;its double ordinate
a C

4

>

Where, x € [0, 1t/2]
T/
2
-~ Area = cosxdx =1
0

b
= [ 110 - g0l

atx=Kk

(chord perpendicular to the axis
of symmetry)

2
Required Area = 3 (area 0 ABCD)
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